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HEH 43 fi RA—R B FIL—T1 (bysi—) 12 0 0 JAM 265° EE3~6m/s
IIN—TF2(CHh—5, #-TC, F-7VS) 12 0 B%;Jo
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11 [kyR— 47669|EH%F FIE ky/x— 116 13 2 56 3776] 8 3255. 172414
2l 2 [Rhw/s— 6|03 ki Rbw/S— 118 13 4 26 3866] 9 3276. 271186
3] 3 [Rhwss— 3| EEF B Rhw/s— 118 13 8 14 4094 16 | 3469. 491525
4] 4 |Rkysi— 5|=8 p— Rhw/s— 118 13 10 59 4259 21| 3609. 322034
5] 5 [REw/s— IMETTER REw/S— 118 13 11 31 4291 22 | 3636. 440678
6] 6 [Fysi— 43024| AKX F1T by/s— 116 13 12 0 4320 23 | 3724.137931
11 8 |#-7vC * 1[/\K B =77k - 121 13 17 57 4677] 28 | 3865. 289256
8] 21 [Rhw/s— INHH 2z REw/S— 118 13 25 25 5125 31 [ 4343.220339
9] 30 [Rhw/i— 71708 #Fh Rhw/S— 118 13 39 5 5945 35 | 5038.135593
10] 31 [Rhw/i— N Rhw/S— 118 13 42 32 6152] 36 | 5213.559322
11 35 [Rhy/s— 6| AR RE REw/S— 118 13 50 42 6642] 37 | 5628.813559
12] 38 [Rbw/i— 8lil EH=E Rhw/S— 118 DNF 38 | 9152. 542373
13 38 [Rkw/i— 2|[AF H— Rkw/S— 118 DNF 38 | 9152.542373
14] 38 [REw/s— AN REw/S— 118 DNC 38 | 9152. 542373
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i 14 [RVH—5 n|%E #E |58 B RVH—5 95 13 5 2 3902] 10 | 4107. 368421
2l 19 [ROH—5 HHE HBA  |E% K@ |8H EX |RVHA—F 95 13 6 44 4004] 14 | 4214.736842
3] 20 [ROH—S i f&- KB K INE XE |RVA—5 95 13 6 45 4005 15 | 4215.789474
4 22 |[RVH—5 8|H L FHAh |[AF F RVH—5 95 13 8 48 4128 18 | 4345. 263158
51 26 [ROH—5 6|AH T8 B 8X |HE & RVH—5 95 13 12 55 4375 24 | 4605. 263158
6] 21 [ROH—5 10(F8H K |98 B IN=17 RVH—5 95 13 13 4 4384 25 | 4614. 736842
71 28 [RVH—5 2B BEX |HE B4 [N §KF IRVH— 95 13 14 51 4491 26 | 4727. 368421
8l 32 [ROH—5 7)5FH B |[FE ES&  [H) EE O |RVA—F 95 13 23 56 5036] 29 | 5301.052632
9] 33 [RVH—F 12| AT 25 BHE AR CE] RVH—5 95 13 25 0 5100] 30 | 5368.421053
10 34 [RVH—5 9l#E 2 [T = RVH—5 95 13 25 25 5125 31 5394. 736842
11 36 [REH—3 5|5FrR 2 Bl _BE RYH—5 95 13 32 47 5567] 34 5860
12l 41 [ROH—5 48 EH [EXEX FE |HFE B&E  [RVH—F 95 DNF 38 [ 11368.42105
i 9 [+-7>C 195678|BT A ERfT ILCA6 93 13 1 7 3667] 3 3943. 010753
2] 10 [#-7vC 210517[lUX FE ILCA4 94 13 2 11 3731 7 3969. 148936
3] 11 |4-7>vC 14536(78)I| [ERA ILCA6 93 13 1 51 3711 4 3990. 322581
4 12 [r-7vC 190949[/vék w3 ILCA6 93 13 1 59 3719 6 3998. 924731
5] 13 [#-7vC 2202035 H Fth ILCA7 90 13 0 0 3600] 2 4000
6] 15 [4=7vC 222434 % 1&5A ILCA7 90 13 1 54 3714 5 4126. 666667
71 16 [4-7>C 211652|#3 3 =B ILCA6 93 13 5 3 3903] 11 | 4196.774194
8| 17 [#-7>vC 7#E 7% ILCA4 94 13 5 45 3945( 13 | 4196.808511
9| 18 [|#-7>C 13693[db#k_Fi5h V—-iky"-SR 93 13 5 5 3905( 12 | 4198.924731
10| 23 [+-7°vC 143049|fEH S ILCA6 93 13 8 21 4101 17 | 4409. 677419
11 24 [+-7°vC TS ILCA6 93 13 9 0 4140[ 19 | 4451.612903
12| 25 [4-7°vC 13181|RE EBEE Y—hy'-SR 93 13 10 50 4250[ 20 | 4569. 892473
13[ 29 [#-7vC 16298| 58 = ILCA7 90 13 15 12 4512] 27 [ 5013.333333
14 37 [t-7vC 131904| F& ILCA6 93 13 32 19 5539] 33 [ 5955.913978
15| 42 [4-7"vC 3108|# 0 = Y-hy'-SR 93 DNC 38 | 11612.90323
il 7 [+-7vs 3975 RE  |RE S T—H— 87 12 54 26 3266] 1 3754.022989
2| 43 |4-7'vs 2573[A0 JEF  |FFiE Z|/iA —ik—X 86| IDNC 38 12558. 13953

* REEDOMN—ISRETI VI KEFATREIBRZIETEMELTTIL,

L—REEE EARX




